s —— Faetony Parts Catalog
_

Product No. GLEB27Z7HBA | GLEB27Z7HSA
38256791F8261 | 38256791F8211
Series 27" single 27" single
Color black white
Market North America | North America
Wiring Diagram 318046252 318046252
Owner's Guide 318205114 318205114
Installation Instructions | 318201508 318201508
Service Data Sheet 318047431 318047431
Timer Guide 318204141 318204141

SINGLE ELECTRIC

{ Electrolux WALL OVEN

Electrolux Major Appliances
North & Latin America MOdel NO'
P.O. BOX 212378 GLEB27Z7H

AUGUSTA, GA 30917

Publication No.
5995510244
08/03/26
(EN/SERVICE/ECL)
377

Copyright © 2008 Electrolux Home Products, Inc.
All rights reserved.




Publication No: 5995510244 GLEB27Z7H

CONTROL PANEL

CC970-415621

03/08 2



GLEB27Z7H

CONTROL PANEL

Publication No: 5995510244

POS. NO
18
18
18A
18A
19#
19#
204
21
21
23
42
42
78
78
99

R

# Functional Parts
* Non-lllustrated Parts

Model Index:

PART NO.
5303311208
5303311231
5303311209
5303311232

318030047

318030049

316418577
5303311212
5303301310

318015404
5303318709
5303316983

318037122

318037121
5303316956
5303307406

3201861
5303131766
5303211311
5303300265
5303311528

A GLEB27Z7H (GLEB27Z7HSA)
B GLEB27Z7H (GLEB27Z7HBA)

>>"'>>"' >"

[

‘>

>>> > >
0 oo ww

ow ' ww '

w

DESCRIPTION

End Cap, white, RH

End Cap, black, RH

End Cap, white, LH

End Cap, black, LH

Panel, control, white, w/touch cntl
Panel, control, black, w/touch cntl
Clock/Timer, electronic, ES350
Trim, canopy, white, top

Trim, canopy, black, top

Bracket, timer, (2)

Trim, vent, white

Trim, vent, black

Cover, oven vent, white

Cover, oven vent, black

Screw, 6-32 x 3/8, white, (2)
Screw, 6-32 x 3/8, black, (2)

Screw, 6 x 0.375, (4)

Screw, 6-32 x 0.375, top trim

Screw, 8 x 0.500

Screw, 8-18 X 1/2, (4)

Screw, oval hd sq dr, 6-20AB x 0.625, black

03/08



GLEB27Z7H

Publication No: 5995510244

BODY

BCGEB27Z7HS1

03/08



GLEB27Z7H

BODY

Publication No: 5995510244

POS. NO

12#
14
15
16
17
18
3T#
54
56
56
58A
58B

60
62
62*
66 #
67 #
68
70
71

80
81

83
86
88
89 #
98
98A
99
102
102A
103
103
103*
103*
103A
103A
107
108#
109

# Functional Parts
* Non-lllustrated Parts

Model Index:

PART NO.
318066703
318102002
318071503
318345200
5303317977
5303317976
316445501
318224000
5303013071

08011086
5304400195
318090300
316217002
318222400
5303302711
5303298951
318285044
318285039
318072538
5304437678
316056000
5303323144
318255601
318255100
5304403015
318194402
318071102
318080300
5303320846
318192400
318071802
318089525
318113901
318118900
318095957
318029910
318029911
318055420
318070700
318070701
318028701
318028700
318028801
318028800
318083402
318083401
318219405
318073025
318398300

A GLEB27Z7H (GLEB27Z7HSA)
B GLEB27Z7H (GLEB27Z7HBA)

>>r>>r>>>>>r>>>>>>

>'>'>r>>r>>>>rr>>>rr>>>>r>>>>r>>>>> "

>>>x>x "

D WWwW ' W' W' WWWWWWWWoWoWwWoWowowowoowowowomowowowowowow ' UoWowowowowomwowoowowoww

DESCRIPTION

Wrapper, back and sides

Shield, oven top

Shield, oven top

Rack, oven, (2)

Pan, broilerOPTIONAL ACCESSORY
Insert, broiler panOPTIONAL ACCESSORY
Switch, oven light, door frame
Receptacle, oven light
Bulb/Lamp, light

Lens, oven light, glass

Retainer, light cover

Latch, door

Probe, oven temp

Housing, oven light

Trim, bodyside, white

Trim, bodyside, black

Insulation, oven wrapper
Insulation, oven back

Tube, oven vent

Plug, button

Terminal Block

Nut, 10-32

Element, broil, 3400W

Element, bake, 2300W

Support, hanger, (2), broil element
Shield, insulation

Shield, rear wall

Front, oven

Plate, oven mtg

Spring, oven

Shield, oven bottom

Liner, oven

Support, door hinge

Rod, latch

Motor, latch assy, w/brkt & switch
Trim, side, inner, RH

Trim, side, inner, LH

Support, adjustable

Cap, top panel, RH

Cap, top panel, LH

Trim, base, white

Trim, base, black

Trim, base, white, (under counter)
Trim, base, black, (under counter)
Trim, base, protector

Trim, base, protector

Cover, fan

Motor, blower

Fan Blade

03/08



GLEB27Z7H

Publication No: 5995510244

BODY

BCGEB27Z7HS1

03/08



GLEB27Z7H

BODY

Publication No: 5995510244

POS. NO
111
119#
124
125#
125*
127
128
129
131
132
132A
150
150A
185
187
188
188*
222
264

# Functional Parts
* Non-lllustrated Parts

Model Index:

PART NO.
318399800
318004900
318076904
318398200
5303316994
318317100
5303311163
5303311164
318102204
318101704
318101705
318072205
318072204
318014700
318013503
318014110
3131048
318080000
318143811

318078562
318370398
318003606
318249400

A GLEB27Z7H (GLEB27Z7HSA)
B GLEB27Z7H (GLEB27Z7HBA)

PP >>>>> >
00 00 00 00 00 00 00 00 00 0 00 00 00 00 00 00 0 0 O

>> > >
W W ww

DESCRIPTION

Nut-fan retainer

Switch, thermal

Box, vent

Motor, fan

Insulation, 3.81 x 3.13

Adapter Assembly, vent tube, w/converter
Bushing

Spring

Cover, control housing

End, cover, RH, control housing
End, cover, LH, control housing
Bracket, support, LH

Bracket, support, RH

Spacer, oven shield, (4)

Tube, latch rod

Spacer, (6)

Screw, 8 x 5/8, (6)

Plate, oven temp probe

Shield, wire

Box & wires assy

Wiring Harness, main

Thermostat, safety, .945" mtg., 140/170
Tube, protector

03/08



Publication No: 5995510244 GLEB27Z7H

DOOR

DCGEB27S7CS2

03/08 8



GLEB27Z7H

DOOR

Publication No: 5995510244

POS. NO

NNo DWW

11
12
16
17
18
20
22
23
23
23A
23A
28
31
38
38
39
39
53
53
54
54
57
60
65
65
66

# Functional Parts
* Non-lllustrated Parts

Model Index:

PART NO.
318026128
318026127
318051618
318051617
318073502
318362113
318362112
318048504
5303320493
318053100
318042300
318042001
318293502
318113800
5303310511
318074208
318074206
318074207
318074205
318090210
318065102
318074801
318074800
318039901
318039900
318074912
318074913
5303300265
5303308456
318172902
5303321221
318090122
318090123
318167101

5303321214
5303325170
5303325630

A GLEB27Z7H (GLEB27Z7HSA)

b

>>r>>r>>r>>r>>>r"' >

>'>rr>r!'>"'>"'> > >

> > >
os]

B GLEB27Z7H (GLEB27Z7HBA)

DESCRIPTION
Trim, oven door, white
Trim, oven door, black

Shield, air wash

Insulation, door, sides, (2)
Liner, oven door

Cover, hinge cutout

Seal, oven door

Spacer, glass

Gasket, door glass seal
Spacer, door

Bar, glass retainer

Strike, door

Latch, door

Stop, door, white

Stop, door, black
Handle, oven door, white
Handle, oven door, black
Pin, hinge

Pin, hinge, black

Screw, 8-18 X 1/2, (4)
Screw, 8-18 x 0.531, black
Stiffener, glass

Screw, handle, black
Bushing, hinge

Bushing, hinge, black
Screw, door lock

W' W' W' DWW ' W' WWOWWWWwWwwWwwwww ' W'

0w ' Wwww '

os]

Washer, lock
Nut, Keps, 8-32, (4)
Lockwasher

oe]

Glass, oven door, white, outer
Glass, oven door, black, outer

Insulation, door, top & bottom, (2)

Glass, oven door, heat barrier, (2)

Hinge, oven door, chrome, lower
Hinge, oven door, black, lower
Hinge, oven door, chrome, upper
Hinge, oven door, black, upper

03/08



Publication No: 5995510244

GLEB27Z7H

WIRING DIAGRAM

()
N

CODE  GAUGE  TEMP.C  CSA uL
OVEN CIRCUIT // CIRCUITO DE HORNO // CIRCUIT FOUR CODIGO MEDIDA
CODE  CALIBRE
R-6 1 18 125  cLi251 3173
2 16 125 CL1251 3173
W-5 3 14 125  CL1251 3173
4 12 125 CL1251 3173
5 18 SEE NOTE/VEA LA NOTA/VOIR NOTE
BK-6 6 16 SEE NOTE/VEA LA NOTA/VOIR NOTE
7 14 150 EXL-150 3321
8 12 150 EXL-150 3321
9 10 150 EXL-150 3321
10 18 200  SEW-1 3122
1 16 200  SEW-1 3122
12 12 250 3252
ELECTRONIC OVEN CONTROL/ 13 16 250 3252
CONTROL DE HORNO ELECTRONICO/ 14 20 SEE NOTE/VEA LA NOTA/VOIR NOTE
COMMANDE FOUR ELECTRONIQUE ES 350/ES 355 15 8 150 EXL-150 3321
BK-6 16 8 60
17 10 60
K1 IE 18 10 200  SEW-1 3122
19 20 125 CL1251 3173
K2 20 20 200 SEW-1 3122
21 22 125 CL-1251 3173
22 22 150 EXL-150 3321
K4 T 23 18 200 3573
1|Ps WIRES
oLl |DLB P15 i WIRES 1806 UL 5321 FOR 27 AND.30'HODELS
our ‘ ALAVBRE 200C UL STYLE 3122 PARA MODELOS 24"
‘ ALAIBRE 150C UL STYLE 3321 PARA MODELOS 27'° V 30"
OPTION/OPCION/OPTION FILS 200C UL 3122 POUR LE MODELE 24"
e T FILS 150G UL 3321 POUR LES MODELES 27°° ET 50°"
| CONVECTION MOTOR FAN/VENTILADOR DEL MOTOR |
BR-6 l | DE CONVECCION/MOTEUR VENTILATEUR CONVECTION |
- ;
: COLOR CODE/CODIGOS DE
1 BR- BR-
| 5 @ 5 Y COLOR/CODE DE COULEUR
s G. -GREEN/VERDE/VERT
W-5 W. -WHITE/BLANCO/BLANGC
R. -RED/ROJO/ROUGE
LATCH MOTOR/MOTOR DE CERROJO/ 0. -ORANGE /NARANJA/ ORANGE
BAKE ELEMENT/ELEMENTO MOTEUR VERROU Y. - YELLOW/AMARILLO/JAUNE
DE HORNO/ELEMENT BK-5 BK-5 BR. -BROWN/CAFE/BRUN
CUISSON — Ca— ] BL. -BLUE/AZUL/BLEU
v-6 v-8 BK. -BLACK/NEGRO/NOIR
3 OVEN LAMP/
BROIL ELEMENT/ELEMENTO LUZ DE HORNO/
DE ASADO/ELEMENT GRIL LAVPE FOUR
BL-6 BL-6
BK-14
e BK-14
SW.A
NO SEE LEGEND/DER LEYENDA/
VOTR LEGENDE
c
BK-14| © | BK-14
BK-14
DOOR SWITCH/ NC
INTERRUPTOR DE ¢ NO
PUERTA/
INTERRUPTEUR DE PORTE
BK-14
BK-14 SW.A
TEMPERATURE PROBE/ SW.A
SONDA DE SAFETY THERMOSTAT/ LATCH MOTOR
TEMPERATURA/ TERMOSTATO DE MOTOR DE GERROJO
SONDE THERMIQUE SEGURIDAD/ MOTEUR VERROU
THERMOSTAT DE SURETE
R-6 x R-6
THERMOSTAT/ COOLING FAN/
TERMOSTATO/ VENTILADOR DE ENFRIAMIENTO/
THERMOSTAT VENTILATEUR REFROIDISSEMENT
BK-14 BK-14 W-14

CAUTION: DISCONNECT POWER BEFORE SERVICING UNIT.
ATENCION:CORTAR LA CORIENTE ANTES DE REALIZAR EL MANTENIMIENTO DEL ELECTRODOMESTICO.
ATTENTION:COUPEZ L ALIMENTATION AVANT D EFFECTUER LA REPARATION.

318046252 REV:A

03/08

10



